GRESBATI AN
$=5,+5,=400m+600m=1000m
JE A 4 T R A ) Sy

1=t1+t,+1:=50s+30s+120s=200s

SRR TEE Ry
_s _1000m _
= TT00s O™

2. ()= AL S M
RIEP, B R 1009km; %A

6:48 MJ M B 1 L1048 K FI G B

75, 2 FE I 4hd0min=~4.67h,

PRUEN RS SIS )
_s _1009%km __
U—t =~167h 216km/h

()R KB L, B e
B L=2000m, M ZE LB v, =72km/h=

20m/s FIBT ¢,=2min=120s 5& 438 & %

T B B FE N s 1=L+Loo

=37
si=L+Lo=vt,=20m/sx120s=2400m

W) A A Sy

L=s,-Ly=2400m-2000m=400m

B2 4 HTERR I B AT, F7E

AR N

$:=L—L=2000m-400m=1600m

LA 0, =20m/s 1847, WEFT

Ay 1] Sy

_ s, _ 1600m
=52

o T 20mss 008

5 4 HB

§2.1 EEMFEEEE
ERHILE

1.D

2.B

3.A

R, KA FD B RANIE

LB A s:;—vt:é—x340m/sx0.lszl7m3

BESEEPS

(2) 75 % 16 [F Rl A 5 o £ 5 1

JE5 HUR A R (S22 7 7T )
SIS ORI
()5 ik

(3) LA A ft

6. 75 T 1% I AT A /NP ] A

_s _1020m _ s
Tv T 340m/s

BETIRS
7.B

8.(1)ELAs R fgthrs
(2R3l <k

9.( 1)k

(2)4F

(3)AHE

10,75 5 A A& R IR )

s _ 990m _,.
T B3 0ms

AR P AR I )y
Lpm=tzsx—2.55=3s-2.5s=0.5s

YU 5 A T P A R

ACOB T 5 70 TR

A st~ 40 =2.5s, JTLAR !

s - 990m _ 19805

|29 T 0.5s

&=

HREF
11.B
12.(1)HER Jivh
(2)1450
(3)b

§2.2 EERFFME

E I E
1.B
2.D
3.C
456
T

6.(H & Rshig e
2/ 55
IR IR BEE S K

7.C

8.C

9.20000 Wil &

10.(1)a d

(2)ARAITT BeA AR IR

3.« <. T

L1 3 B S8

(W% 5

(GOmifE  HRim
HREFH

1200 @

2)@ ®

3)® ®

F4T

49 T8
A
% 1 Hf
§1.1 K EEAIRE RS
ERH L E

1.D

P B AN FH AT,
2.B

3.B

4.B 2.7¢cm

5.144

6.L—15mm

7.00)d  FAZL Ry Bk !
n ERAATARY. BFERHEE

(bacd (STBD 3y oo stadn sk, o B s M s

ARRYJEEHE TSR A

8.A

BT AR B R E

% B WAk K B
9.A

10.C

P B B R R, R

R IE A H I T

11.2.5x10°  fE

Bk LA 22 HO B K o, BV EM4H 2210 BLAR

d (2)DBEC (3)%k
HRRET

13.B

S AR A 8 B

IR AP ALE SO

4ZER 14

15.(1)78.5 (2)1413 (3)471

. 1884

§1.2 EFHHIHEIR
BRI E
1.B
2.D
3z Hik AR
4.2 Ik

R B E IR B

-

6.D
7R Bk R
8.A

9.C

10.(1) PEHU T I O BE T2k Jy 5 18
C W, TR (R R kA AR, BT L

K LiPR I H
12004 FHHZZ 19 SR BT O

HWRIET

2022-2023 F 4

o\ FE R

12.B

BT BT ALE —FKF L,

KRB ARBE MRS L LS
AT (5B PR L), KB
C EEEX E B GG, T AR E

'
! i

13.(DJF  (2)#E  (3)5)
$F2H
§1.3 EFhHYIRIE
EARHTLE
1.D
2.D
3.D

BF . AMEBTaEITH 24

B TIRR AR, AR ST e

| R AR D

AR BB U RE A [R] B AR L B

N L5112 T D e

5.C1) D\ B B i 30) 0k s 2 il 14

- R

s=5,+5,=106km+507km=613km

il v:j—ﬂ%l], MNEE Bl H O 21 3k

g T R ]
(DAL LB R |

AR S . TR M
CBERWE . FLREEEA D
AR 2 IE E 1R

5 _ 613km
v 160km/h

~3.83h

(2PN R
v'=144km/h=40m/s
HIERTPNpN N pibuN )7 ]

$'=L4+Lp=250m+832.2m=1082.2m

F1]



@ o=, 3% 4

TR BT B s 8] A
,_s'_1082.2m _ ‘
= 27,0555
BEIRS
6.8
7.C

P wik Bt BT T e AFAT

Bhedik E A T0km/h; AFENE R EEF]

e L SR

_s _2.8x10°x10"km —4h
v 70km/h °

SARIFIBEFELL I ] 1:2
9.(1)IZI J wIAILAE 2L IR ] P 42
HIAT RS A

$1=5—5,=90m-40m=50m

(2) RIHLAY SR Bt ] K
_si _ S0m _ S
o, 25m/s =2

D) A A BRARS B0 31 56 4 45 1 14 P
[ 4

1=t +1,=2s+3s=5s

AR R
p=3_=90m _ g /s=64 8km/h
t Ss

(3) FIHLLE I 07 BT P4 1 26 3 =

25m/s=90km/h , M & P ] S0, 12 i B KR

T 80km/h<90km/h, W12 G HLI B R 1

2.
wmRE

10.(1) H .08 54 80 YK /min , BT H

v DR Ak 80 Wk, T ARUL B ()%
I ] 5] B C Bp P o o B 4 A AR AT 0% 3/ K

AP R B ) (4)40.0 025 >

_t _60s 75 (5)7h
tm—?“— 30 0.75s
! BENRE
(2) i AT AT, 78 0.75s ISFIR] Y
: ; 6.C
| o P e A B AR B B R s =
7.A

© 30mm, JULC SR ARERAR O E AT
, L R WE T, £ 20m A
C N !
C EIEF AT E e NFTeS Y AT 20m

p=31 = 30mm =40mm/s ' P . _ .
tm 0.75s COA B SRR N, AR R R A 2

(3) ] — &0 Ha, RS H 4053 3 o A WA BARMRM K, T E—

L 2T 2 Bk R B R A 6 R A B K )

AR BB o <25mm , M Z AR | (PR LIS ) s E e S A ] £

L it D RBEA— A AL, KU LA A

: s, 25mm _ v R IE G, BT A B SE 4 iR ALK
1,=30= =0.625s ;

' v 40mm/s '

! VRS, S ARRiE e IE B AR TR

tnin LML L e
nl:ézo.%gsss:% 847 0.3

Bl Z (.02 96 YK /min. 9.(1)13.8 1.2

I §1.4 MEFHER 22

| HEitE . .

1 é SRR
2D 10.8

RT MBR RS ZTGRA R7 . WE 4 KA 10s M@t

AR, B R— R BB | MRS A 13 AKIER, B =

'+ 54.8mx1.3=71.24m,

AR
3.D 1.1 R
: : (D)ZIER
: 4.64.00 32 2 :
! )HE—
' 5.(1)1}:8— X

l ! (4K 0.6

F2W

Y12
A
%38
£—& HUBEFLITN
— JEFESR

3.D

4.C

5.D

RTINS AR R B ] iR A 6 K
FERADRPIWE S T RIZ, BAE
VAAATR) 9 542 BT A B 1) K A2 R F) 0T3B!

o PR e AR T KRR P

Fid A o= =100m g 170,

t 9.83s

AL 46 AR A R B, R
MR MK %k T A B LR KA

WRIEI G ik A KBS, ERRmE

AMERAKIEF,
6.B

7.C

ﬁﬁ:@@ﬁ%,oéﬁéﬁﬁ,é
V4940 4642 B B % R & 400m;0~10s,
LA, T A 108 LT AT
GREEESH, LOTHEH, A
st —H B AMSE

&, W% AEEshIBRPHUIR A

2022-2023 F 4

o\ FE R

8.C 1 18.(1)2.80 KF (2)D3.8 @A
RA L RERERAES A N AR b B 10 4
R ELAR R

| L#wu@aml:%s, T H = |

: O NAR N AR R K
RER T SS S LY S PN Rt N
$ BRSNS A P

:mﬁﬁwzmaiiﬁﬁ%%ﬁﬁﬁ ;i;@%;wra>ﬁk

- s 5
IR T N N 0.010=" () ZER 5k
5 + 5 S50 Sv ‘ t
v 3 } B i
v C(HOWTF R @58 L
BT RS EY 2 C(5)0.33 SHUMATH HAE S
: V= s = S :ifl} : S
: 3, 2, 35 4 13 °° T T T T
5 + 5 S50 150 : 60emHIHA HH HA A HH H
: v i ‘ 50emi—H A o
2 v : 40emIHH H HA |
30emHIHH —H N
:J’E?@ : 20cm{—H{ EESEE .
\ 10cmH ‘ .
9O BEMH 7x107 0.1 | Ocm S Zé 4s 6s 8s 10s !
10.1ef1H} 2 36 20BN (I EHNE
A IS (3008 AT o (4K

Lm0  mitum

138 B 235 2101 BENRAEAEIES F s

1438/ 4 752 : L N
Wl B o =8mds, FTH ] 1,250,

15km/h 30 30 ‘
==l HZI A TE 1L i B AT

16.0.1 4 ASHEL | '
= ERERRE - BB

17.00) OBk Ay | STleSnxS0s=400m

O QE A g 0 (2) BHTURIET HAR B

HHREREE Q%R A4 % 5 — L HBS TR R 5,=600m, 1T A] £,=30s, WU

AR VAR O F R
Minah SR EAA R A g R A § .
g (29680 57.90 L i 1}2:%:6308:1 =20m/s
E3m



